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Introduction



About Component 2: Depth study


Component 2 involves the study of a significant period of historical change and development (around 20–25 years at AS-level and 40–50 years at A-level) and an evaluation of primary sources.


Revolution and Dictatorship: Russia, 1917–1953


The specification lists the content of this component in two parts, each part being divided into three sections.


PART 1 – The Russian Revolution and the Rise of Stalin, 1917–29





•  Dissent and revolution, 1917



•  Bolshevik consolidation, 1918–24



•  Stalin’s rise to power, 1924–29





PART 2 – Stalin’s rule, 1929–53





•  Economy and society, 1929–41



•  Stalinism, politics and control, 1929–41



•  The Great Patriotic War and Stalin’s dictatorship, 1941–53





Although each period of study is set out in chronological sections in the specification, an exam question may arise from one or more of these sections.


The AS-level examination


The AS-level examination which you may be taking includes all the content in Part 1.


You are required to answer:





•  Section A: one question on two primary sources: which is the more valuable? You need to identify the arguments in each source as well as evaluating the provenance and tone. Using your knowledge in relation to these strands, you need to assess how valuable each source is, and then reach a judgement on which is the more valuable. The question is worth 25 marks.



•  Section B: one essay question out of two. The questions will be set on a topic reflecting that this is a depth paper, and will require you to analyse whether you agree or disagree with a statement. Almost certainly, you will be doing both and reaching a balanced conclusion. The question is worth 25 marks.





The exam lasts one and a half hours, and you should spend about equal time on each section.


At AS-level, Component 2 will be worth a total of 50 marks and 50% of the AS-level examination.


The A-level examination


The A-level examination at the end of the course includes all the content of both parts.


You are required to answer:





•  Section A: one question on three primary sources: how valuable is each source? You are NOT required to reach a conclusion about which might be the most valuable. You need to identify the arguments in each source as well as evaluating the provenance and tone. Using your knowledge in relation to these strands, you need to assess how valuable each source is. This question is worth 30 marks.



•  Section B: two essay questions out of three. The questions will be set on a topic reflecting the fact that this is depth paper. The question-styles will vary but they will all require you to analyse factors and reach a conclusion. The focus may be on causation, or consequence, or continuity and change.





The exam lasts for two and a half hours. You should spend about one hour on Section A and about 45 minutes on each of the two essays.


At A-level, Component 2 will be worth a total of 80 marks and 40% of the A-level examination.


In both the AS and A-level examinations you are being tested on your ability to:





•  use relevant historical information (Sections A and B)



•  evaluate different historical sources (Section A)



•  the skill of analysing factors and reaching a judgement (Section B).





How to use this book


This book has been designed to help you develop the knowledge and skills necessary to succeed in the examination.





•  The book is divided into six sections – one for each section of the A-level specification.



•  Each section is made up of a series of topics organised into double page spreads.



•  On the left-hand page you will find a summary of the key content you will need to learn.



•  On the right-hand page you will find exam-focused activities.





Together these two strands of the book will provide you with the knowledge and skills essential for examination success.
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Examination activities


There are three levels of exam focused activities:





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol: [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you achieve a C grade. These have an orange heading and this symbol: [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol: [image: ]






Some of the activities have answers or suggested answers on pages 111–113. These have the following symbol to indicate this: [image: ]


Each section ends with an exam-style question and sample answers with commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.






Mark schemes



For some of the activities in the book it will be useful to refer to the mark schemes for this paper. Below are abbreviated forms.


Section A – Primary sources






	Level 

	AS-level exam

	A-level exam






	1

	Describing source content or stock phrases about value of source; limited understanding of context.

(1–5)



	Some comment on value of at least one source but limited response; limited understanding of context.

(1–6)








	2

	Some relevant comments on value of one source, or some general comments on both. Some understanding of context.

(6–10)



	Some relevant comments on value or one or two sources, or focus only on content or provenance, or consider all three sources in a more general way. Some understanding of context.

(7–12)








	3

	Some relevant comments on value of sources, and some explicit reference to focus of question, with some understanding of context. Judgements thinly supported.

(11–15)



	Some understanding of all three sources in relation to content and provenance with some awareness of historical context. An attempt to consider value, but probably some imbalance across the three sources.

(13–18)








	4

	Range of relevant, well-supported comments on value of sources for issue identified in question. Not all comments will be well-substantiated, and will have limited judgements.

(16–20)



	Good understanding of three sources in relation to content and provenance with awareness of historical context to provide a balanced argument on their value in relation to focus of question. One or more judgements may be limited in substantiation.

(19–24)








	5

	Very good understanding of value of sources in relation to focus of question and contextual knowledge. Thorough evaluation, well-supported conclusion.

(21–25)



	Very good understanding of all three sources in relation to content and provenance and combines this with strong awareness of historical context to present balanced argument on their value in relation to focus of question.

(25–30)









Section B - Essays






	Level 

	AS-level exam

	A-level exam






	1

	Extremely limited or irrelevant information. Unsupported vague or generalist comments.

(1–5)



	Extremely limited or irrelevant information. Unsupported vague or generalist comments.

(1–5)








	2

	Descriptive or partial, failing to grasp full demands of question. Limited in scope.

(6–10)



	Descriptive or partial, failing to grasp full demands of question. Limited in scope.

(6–10)








	3

	Some understanding and answer is adequately organised. Information showing understanding of some key features.

(11–15)



	Understanding of question and a range of largely accurate information showing awareness of key issues and features, but lacking in precise detail. Some balance established.

(11–15)








	4

	Understanding shown with range of largely accurate information showing awareness of some of the key issues and features, leading to a limited judgement.

(16–20)



	Good understanding of question. Well organised and effectively communicated with range of clear and specific supporting information showing good understanding of key features and issues, with some conceptual awareness.

(16–20)








	5

	Good understanding. Well-organised and effectively communicated. Range of clear information showing good understanding and some conceptual awareness. Analytical in style, leading to a substantiated judgement.

(21–25)



	Very good understanding of full demands of question. Well-organised and effectively delivered, with well-selected precise supporting information. Fully analytical with balanced argument and well-substantiated judgement.

(21–25)












1 Dissent and revolution, 1917



The condition of Russia in 1917





•  The Russian empire occupied one-sixth of the world’s land surface and was seen as a great power.



•  There was an enormous diversity of climate, vegetation and physical features.



•  The difficult climate and terrain in many areas meant that most of the population was concentrated in European Russia, west of the Ural Mountains.



•  At the turn of the twentieth century, Russia’s population stood at 126 million people.



•  This population was noted for its diversity. Each national group had its own language, religion, culture and traditions. Traditionally the government’s response was to insist on Russification, whereby Russian was the official language.



•  Russian society was shaped by the dominance of the Orthodox Church and the peasantry, who made up 80 per cent of the population.





Political parties


It was not until 1906 that political parties were legally permitted. A number of parties were very prominent by 1917 including the Octobrists, the Kadets, the Social Revolutionaries (SRs), the Mensheviks and the Bolsheviks.


Worker strikes


From 1906 to 1914, Russia’s urban workers were increasingly unionised. Strikes occurred sporadically from 1906 to 1911 and increased significantly in the last years of peace, with major waves of strikes in 1913 and early 1914 (see Table 1.1).


Table 1.1 The number of workers on strike in Russia on the eve of the First World War






	Year

	Workers on strike






	1912

	  750,000






	1913

	  887,000






	1914 January to July

	1,450,000







The Tsar and political authority





•  Tsar Nicholas II had governed Russia since 1894.



•  His family, the Romanovs, had ruled Russia since 1613 in an autocratic fashion.



•  He was a family man, believed wholeheartedly in autocracy and was highly resistant to reform.



•  The Tsar was assisted by the Cabinet, the Senate and the State Council. However, these bodies were merely advisory and they had no power independent of the Tsar.





Russia after 1905


The 1905 Revolution did not lead to the radical changes that many had hoped for. Nonetheless, Tsarism was forced to embrace some limited reform. The October Manifesto created a national parliament, the Duma. However, its limited powers did not fulfil the demands of liberals as the elected lower house did not have ultimate law-making power.


Stolypin


Between 1906 and 1911, Pyotr Stolypin acted as the Tsar’s head of government. Stolypin attempted to restore order through a policy of cautious reform and brutal repression. Between 1906 and 1910, Stolypin’s courts found 37,620 people guilty of political crimes. Of these, 8,640 were sent to labour camps, while 1,858 were resettled to Russia’s deserts or to the frozen wastes of Siberia. Russia’s prison population rose from 98,000 in 1905 to over 250,000 by 1913.


Stolypin’s name became associated with these brutal policies. The trains that carried people away into exile became known as ‘Stolypin wagons’, and the hangman’s noose was nicknamed ‘Stolypin’s necktie’.


Political repression


At the beginning of 1907, Maksimilian Trusevich, head of the Russian police, instituted a policy of surveillance and subversion. This policy was highly effective and official reports indicate that Trusevich and Stolypin were convinced that, by 1908, their agents had effectively won the battle against revolutionary parties. Trusevich’s agents inside the revolutionary parties created an atmosphere of mistrust, as revolutionaries had no idea which of their comrades were double agents. By 1913, Trusevich had 94 agents within revolutionary groups in St Petersburg alone.


While the police were broadly effective at disrupting revolutionary parties, they failed to stamp out revolutionary newspapers. In 1912, the Bolsheviks founded Pravda and the Mensheviks founded Luch. The police kept the magazines under surveillance, and they attempted to close Pravda eight times between 1912 and 1914. However, Pravda always re-emerged.
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Below is a sample AS-level exam question which asks how far you agree with a specific statement. Below this is a series of general statements that are relevant to the question. Using your own knowledge and the information on the opposite page, decide whether these statements support or challenge the statement in the question.




‘Nicholas II’s political authority was damaged by his insistence on governing Russia in an autocratic manner.’ Explain why you agree or disagree with this view.









	Statement

	Support

	Challenge






	Nicholas II introduced the October Manifesto.

	 

	 






	Nicholas II’s government was supported by able ministers such as Witte and Stolypin.

	 

	 






	Nicholas II resorted to force to repress the population.

	 

	 






	Nicholas II was assisted by the Cabinet, the Senate and the State Council.

	 

	 






	Nicholas II recovered from the 1905 revolution.

	 

	 






	Nicholas II ignored the political demands of the Duma.

	 

	 







[image: ]







[image: ]


[image: ] Simple essay style


Below is a sample AS-level exam-style question. Use your own knowledge and the information on the opposite page to produce a plan for this question. Choose four general points and provide three pieces of specific information to support each general point. Once you have planned the essay, write the introduction and conclusion for the essay. The introduction should list the points to be discussed in the essay. The conclusion should summarise the key points and justify which point was the most important.




‘The Tsarist regime was on the verge of collapse by 1914.’ Explain why you agree or disagree with this view.
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Russia and the war effort



On the eve of the First World War, Russia’s army was superficially impressive.





•  The Russian Army was the largest in Europe, numbering 1.4 million soldiers and 3 million reservists.



•  Military reforms in 1908 were based on a comprehensive ten-year programme to modernise the Army, including the introduction of military aircraft.





However, at a deeper level the Russian Army had serious weaknesses.





•  Incompetent generals held senior positions due to their family connections, not on merit.



•  Russian soldiers were the least educated of any European army.



•  Russian industry was still undeveloped relative to that of other European nations; therefore, Russian arms production was comparatively inefficient.





The First World War exposed the weaknesses of the Russian Army. Initial victories were short-lived. Russian defeat at the Battle of Tannenberg led to the ‘Great Retreat’ of 1915. Attempts to regain the initiative through the ‘Brusilov Offensive’ of 1916 also ended in failure.


The economic and social state of Russia





•  Growing inflation was a major problem during the First World War. By 1917, inflation had reached 200 per cent. The price of flour, for example, rose by 500 per cent.



•  By January 1917, Petrograd only received 48 per cent of its total grain requirements. The Army was also forced to reduce rations from 4,000 to 2,000 calories a day.



•  The growth of the war economy meant more workers were employed in factories in the cities. Between 1914 and 1917, Petrograd’s population rose from 2.1 to 2.7 million.



•  By mid-1915, the munitions crisis was so bad that Russian artillery units were limited to three shells per day. As a result, the Russian military experienced severe shortages of munitions in the spring of 1915, which led to military setbacks.



•  Russia’s transport networks struggled to cope with the need to transport troops, munitions and food. This exacerbated food shortages in the cities and munitions shortages on the front line.





Discontent


In August 1915, the Tsar took personal charge of the Russian Army, becoming Commander-in-Chief of the Russian Armed Forces. In the absence of the Tsar, rumours circulated that the Tsarina, the Tsar’s wife, was in control of the government. This undermined faith in the government.





•  The Tsarina had been born in Germany. Rumours therefore circulated that she was a German agent.



•  Rumours also suggested that the Tsar and Tsarina were under the influence of Grigori Rasputin. These rumours damaged the authority of the Royal Family as Rasputin had a reputation as a drunk and a womaniser.





From the beginning of 1916, government ministers were appointed and sacked with increasing frequency. This ‘ministerial leap-frog’ was blamed on the Tsarina and Rasputin, who were accused of giving jobs to their favourites.


Members of the aristocracy were aware of the impact that gossip about Rasputin was having on the government. In December 1916, Prince Felix Yusupov, working with other aristocrats and politicians, assassinated Rasputin. However, the murder of Rasputin failed to change public opinion.


The Progressive Bloc


The Progressive Bloc was a political alliance of Duma deputies, united by their desire for constitutional reform. In the summer of 1915, the Tsar recalled the Duma. The majority of Duma deputies, 236 of the 442, formed the Progressive Bloc. They demanded a ‘government of confidence’: a new government comprising leading members of the Duma, which could manage the war effort competently. The Tsar refused to collaborate with the Progressive Bloc. Nicholas II believed that the Duma had no right to play a role in government.
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[image: ] Delete as applicable      [image: ]


Below is a sample AS-level essay question and a paragraph written in answer to this question. Read the paragraph and decide which option (underlined) is the most appropriate. Delete the least appropriate options and complete the paragraph by justifying your selection.




‘The First World War was responsible for weakening the Tsarist regime in the years 1914–17.’ Explain why you agree or disagree with this view.







[image: ]


The impact of the First World War was the most important reason/an important reason/just one of many reasons for the weakening of the Tsarist regime in the years 1914–17. Initially, the Russian people supported the war; the declaration was received with great jingoism and hope that the Russian people would unite behind the Tsar. Given the total nature of the conflict, it became evident that Russia was not in a position to cope with the strain of this war due to morale being low, increased pressure being put on the Russian infrastructure and economy, not to mention the disastrous organisation on the front line. The economic deterioration made a huge difference to/affected/had a limited effect on the public’s perception of the government from 1914–17. As the war carried on, the death toll rose, soldiers deserted and command over the Armed Forces was extremely poor and lacked quality leadership. In an attempt to raise morale and restore control to the military, Tsar Nicholas II announced himself Commander in Chief of the Army in the summer of 1915. Nicholas II’s taking control of the army was a disastrous decision, partly because of the Tsar’s long absences from Petrograd. This added to the discontent towards/made a significant difference to perceptions of/was wholly responsible for weakening the government because …


___________________________


___________________________
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[image: ] Complete the paragraph


Below is a sample A-level exam-style question and sentence starters written in answer to this question. The paragraph contains a point and a concluding explanatory link back to the question, but lacks examples and explanation. Complete the paragraph adding examples and explanation in the space provided.




‘The most important consequence of Russia’s involvement in the First World War was to damage the Russian economy.’ Assess the validity of this view.
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In many respects, the economic impact of the First World War posed a great challenge to Nicholas II …


___________________________


___________________________


Thus, the economic impact of the First World War was considerable and not easy for Nicholas II to deal …


___________________________


___________________________
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The February/March revolution of 1917



Urban unrest


By the end of 1916, the First World War had created extreme economic hardship across Russia. As the war continued, goods became increasingly scarce. With inflation growing, the value of wages of industrial workers was cut by half in 1916. This led to the growth of unrest and strikes and protests began to occur in major cities such as Moscow and Petrograd (see Table 1.2).


Table 1.2 The number of workers on strike in Russia during the First World War






	Year

	Workers on strike






	1914 (September–December)

	10,000






	1915

	540,000






	1916

	880,000







Peasant unrest


The war also brought great hardship to rural areas, which, by 1916, led to widespread protest. Young male peasants were conscripted in large numbers. Consequently, there was a dramatic drop in the rural work force. Horses were also requisitioned in order to help with the war effort. Grain prices were kept low, but with rising inflation standards of living fell for many in the countryside.


The Tsar’s response





•  The Okhrana and the leadership of the Army were well aware of unrest in the country and the city. The Tsar, however, was complacent. Based on the experience of 1905, he assumed that his government could survive even large-scale unrest.



•  In February, the government announced that bread would be rationed from 1 March. This led to panic buying, food shortages and more strikes. On 23 February, thousands of women took to the streets of Petrograd to celebrate International Women’s Day. Female workers in Petrograd’s major textile factories went on strike in protest at bread rationing and appealed to male workers at the Putilov Engineering Works to join the strike.



•  In the last days of February, the Tsar’s hold on power crumbled. By 25 February, 200,000 people protested on the streets of Petrograd. The workers established soviets to put forward their demands. Cossack troops, who had been instructed to supress the protests, refused to supress the rebellion. Indeed, reports reached the Tsar that his own troops were handing out rifles and bread to the people of Petrograd.
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St Petersburg, Petrograd, Leningrad


The capital city of Russia changed its name three times between 1894 and 1924. Originally called St Petersburg, the name was changed to Petrograd in 1914 because the government believed that St Petersburg sounded too Germanic. In 1924, the city was renamed Leningrad in honour of Vladimir Lenin.
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The Tsar’s abdication


Representatives from the Duma met with the Tsar on board his train and requested his abdication. The Tsar agreed to abdicate on 2 March. He abdicated for both himself and for his son. Nicholas II believed that his son was too ill, as he suffered from haemophilia, to assume the government of Russia.


Nicholas II accepted that he must abdicate as he recognised he had lost the support of the Russian elite.





•  In 1905, Nicholas II was able to reassert control of Russia because he had the support of the Army. However, in 1917 senior generals indicated that they were not willing to support him.



•  In 1905, Nicholas II was able to reach a compromise with the middle class. However, in 1917 the middle class had lost faith in the Tsar, due to rumours of corruption and the incompetence of his wartime government.
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Use the information on the opposite page to add detail to the mind map below. This will help you understand the short-term causes of the February/March Revolution of 1917.




What were the immediate causes of the February/March Revolution of 1917?
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[image: ] Simple essay style


Below is a sample A-level exam question. Use your own knowledge and the information on the opposite page to produce a plan for this question. Choose four general points and provide three pieces of specific information to support each general point. Once you have planned your essay, write the introduction and conclusion for it. The introduction should list the points to be discussed in the essay. The conclusion should summarise the key points and justify which point was the most important.




‘The principal reasons for urban and rural unrest in early 1917 were economic.’ Assess the validity of this view.
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The establishment of the Provisional Government



The February Revolution had decisively ended the power of the Romanovs. However, it had failed to establish a legitimate new government. Rather, it had established a situation which Leon Trotsky called ‘dual power’, in which the Petrograd Soviet and the Provisional Government shared power.


The Provisional Government’s power was based on the fact that it was drawn from the Duma, which had been legally elected. However, the Provisional Government recognised that it had a temporary role, and its goal was to govern Russia until a new constitution could be established by a democratically elected Constituent Assembly.


The new Prime Minister for the Provisional Government was Prince G.E. Lvov. The rest of the Government consisted of leading liberals, with the Kadets the strongest group. Alexander Kerensky played an important role in government during the period of dual power. Indeed, he occupied a unique position as he was both a member of the Provisional Government and a member of the Soviet. In this way he was able to help the two bodies collaborate.


The role of the Petrograd Soviet


The Petrograd Soviet represented the working people and soldiers of Petrograd. The Soviet’s aims were to defend the rights of the workers under the new ‘bourgeois government’. It was elected directly by the workers and soldiers of Petrograd, and elections took place regularly. In that sense, Soviet deputies genuinely represented the workers who elected them. Therefore, it could control the local garrisons, the factories and the railways of Petrograd. In this sense, it was more powerful than the Provisional Government.


The Soviet was established in late February 1917 in order to co-ordinate striking workers across Petrograd. In many ways it was similar to the St Petersburg Soviet of 1905:





•  The Soviet was elected directly by factory workers and soldiers living in Petrograd.



•  Delegates were elected regularly.



•  Delegates could be recalled by the factories or army units that elected them.



•  Delegates received the same pay as ordinary workers.





One significant difference between the 1905 Soviet and the 1917 Soviet was the role of intellectuals. Whereas in 1905 intellectuals who were members of radical parties were allowed to advise the Soviet, in 1917 they could become full members of the Soviet. As the Tsar’s government broke down, soviets emerged in every major town across the whole of Russia.


The workings of the dual authority


The Provisional Government faced a series of major problems in 1917:





•  The Government was committed to ‘revolutionary defensism’: the policy of continuing to fight the First World War in order to defend the revolution.



•  Continuing to fight the war meant that the new Government faced many of the same economic difficulties that had brought down the Tsar.



•  Workers wanted higher pay and shorter hours.



•  Peasants wanted to own the land that they worked.





In addition to these problems, the Provisional Government’s authority was limited. It was not elected, nor did it represent the working class or the peasants. Therefore it depended on the Soviet in order to carry out its policies.
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[image: ] Source question


Read Sources 1 and 2 and the AS-level question.


When planning your answer, you can either compare the two sources throughout your answer, or deal with each one in turn. Whichever you do, you need to be assessing the value of each source in terms of content, provenance and tone. The mark scheme for AS on page 7 will also help.




With reference to these sources and your understanding of the historical context, which of these two sources is more valuable in investigating the extent of support for the Provisional Government in March 1917?
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Sources 1 and 2 imply different levels of support for the Provisional Government in March 1917 because …


___________________________


___________________________
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SOURCE 1


From an article written in Pravda by Joseph Stalin on 16 March 1917.


The other day General Kornilov informed the Petrograd Soviet of Workers’ and Soldiers’ Deputies that the Germans were planning an offensive against Russia.


Rodzyanko and Guchkov took advantage of the opportunity to appeal to the army and the people to prepare to fight the war to a finish.


And the bourgeois press sounded the alarm: ‘Liberty is in danger! Long live the war!’ But this is not the case with the present war. The present war is an imperialist war. Its principal aim is the seizure (annexation) of foreign, chiefly agrarian, territories by capitalist states. The latter need new markets, convenient communications with these markets, raw materials and mineral wealth, and they endeavour to secure them everywhere, regardless of the internal regimes in the countries they seek to annex.
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